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QUESTION 1

What is the main benefit of Cloud RAN?

A. Increased cell coverage

B. Better latency

C. Reduced cost by centralizing some radio functionalities
D. Increase radio throughput

Correct Answer: D

Reference: https://www.fujitsu.com/us/Images/CloudRANwp.pdf (4)

QUESTION 2

Which of the following is a valid NFV attack?
A. Hijack attack on hypervisor

B. DDoS attack on the SDN switches

C. Poor NFV implementation

D. Hypervisor resources leakage

Correct Answer: A

Reference: https://www.etsi.org/deliver/etsi_gs/nfv-sec/001_099/001/01.01.01_60/gs_nfvsec001v010101p.pdf

QUESTION 3

Which of the following drive 5G higher reliability?
A. Higher spectral efficiency

B. Multi-connectivity per User Equipment

C. Connectionless radio access

D. Lower Time Transmission Interval (TTI)
Correct Answer: A

Reference: https://learningstore.nokia.com/doc/5¢g/5G_Foundation_Study _Guide_BL00125_M_% 202002.pdf (9)

QUESTION 4
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In a 5G Transport network, the encryption protection of the user and control plane are provided by which of the
following?

A. IPSec

B. Access Control List
C. SSH

D. X25

Correct Answer: A

Reference: https://www.ericsson.com/en/security/a-guide-to-5g-network-security

QUESTION 5

What is the role of 5G in meeting the automation needs of Industry 4.0?

A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and IoT.

B. 5G requirements for Industry 4.0 are mainly focused on Ultra high bandwidth needs.

C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms.

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also from high throughput
and massive connectivity.

Correct Answer: D
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